

Joyo Live Tutorial

For host

JoYo Team, 7th July 2025

How the Host Earn Money on Joyo Live?

Host task

- Working at Joyo offers a unique **hourly wage bonus**; you can withdraw anytime after reaching **\$10**. (The minimum withdrawal amount is 20\$ in Bangladesh, Philippines and Nigeria)
- No agent commissions; you can withdraw to your payment method at any time, will be credited within 24-48 hours.
- There are multiple **Ranking** daily, the MAX reward is **\$100** per individual ranking each day.
- The maximum daily Bonus is **\$93**
- Live stream gift share is up to 70%.
- Users benefit from low recharge rates, with the highest exchange rate from sellers being 1:9500 coins (**10,000 coins = 7,000 points, 10,000 points = \$1**)
- profitable price for recharge , users can get **1\$=9900 coins**
- **Note : when users ask for better price for recharge , please ask him to go to customer service or send him the official recharge link**

How the Host Earn Money on Joyo Live?

New host protection period

Voice Room Girls Special Bonus:

During the first 7 days after completing **the face verification**, girls can enjoy the special bonus task below, which in total is worth **\$3.15**.

Hours per Day	Bonus per Hour (on mic)	Total Daily Bonus	Total Bonus
2	2250 Diamonds	4500 Diamonds	31500 Diamonds

Livestreaming Girls Special Bonus:

During the first 14 days after completing **the face verification**, girls can enjoy the special bonus task below, which in total is worth **\$14**.

Hours per Day	Bonus per Hour (on mic)	Total Daily Bonus	Total Bonus
2	5000 Diamonds	10000 Diamonds	140000 Diamonds

How the Host Earn Money on Joyo Live?

Host Task Reward Policy

- ① Participants need to complete the real person authentication to get live stream qualification. The host can complete the time task to receive the corresponding time reward (including video live stream and voice live stream). The host can enjoy the protection policy within 14 days after authentication.
- ② As daily income increases, task rewards can be upgraded immediately, but rewards can only be claimed once in the same period. It is recommended to claim task rewards after level up.
- ③ Based on your personal basic income in the last 7 days (Today+ last 6 days), you can earn diamonds from hourly live/voice tasks according to the table below.

How the Host Earn Money on Joyo Live?

Video/Voice Host Task Reward Policy

Gender	Basic Income (last 7 days) / Diamonds	Hours per Day / H	Bonus per Hour / Diamonds	Total Daily Bonus / Diamonds	Total Bonus for 7 days/Diamonds
Male/Female	50,000,000	3	310,000	930,000	6510000
Male/Female	35,000,000	3	230,000	690,000	4830000
Male/Female	22,000,000	3	140,000	420,000	2940000
Male/Female	10,000,000	3	65,000	195,000	1365000
Male/Female	7,000,000	3	45,000	135,000	945000
Male/Female	4,000,000	3	28,000	84,000	588000
Male/Female	2,000,000	3	18,000	54,000	378000
Male/Female	1,200,000	3	12,000	36,000	252000
Male/Female	900,000	3	9,000	27,000	189000
Male/Female	300,000	2	5,000	10,000	70000
Male/Female	150,000	2	3,000	6,000	42000
Female	70,000	2	1000	2,000	14000
Female (LIVE)	Less than 70,000	1	1000	1000	7000
Female (Audio)	Less than 70,000	1	700	700	4900

How the Host Earn Money on Joyo Live?

Lucky Gift Task reward of the day (For All Users)

Lucky Gift Task reward of the day			
Level	Today lucky gift income	Today's task rewards (Diamond)	Today's Live Duration
S5	20,000,000	2,000,000	>1 Hours
S4	16,000,000	1,500,000	>1 Hours
S3	8,000,000	600,000	>1 Hours
S2	4,000,000	400,000	>1 Hours
S1	1,600,000	180,000	>1 Hours
C3	1,000,000	110,000	>1 Hours
C2	600,000	70,000	>1 Hours
C1	400,000	60,000	>1 Hours
N5	240,000	30,000	>1 Hours
N4	160,000	25,000	>1 Hours
N3	40,000	10,000	>1 Hours
N2	20,000	8,000	>1 Hours
N1	10,000	4,000	>1 Hours

Note 1: After exceeding 2000\$, 30\$ will be rewarded for every additional 200\$.

Note 2: Lucky Gift Income 5% OR 2%; for example: one valued 100 coins gift receive then can get 5 diamonds OR 2 diamonds income;

Note 3: Diamonds bonus get next day

How the Host Earn Money on Joyo Live?

Daily Ranking Bonus

Ranking	Reward/Diamonds	Online Hours Requirement
1	1,000,000	$\geq 1H$
2	600,000	$\geq 1H$
3	300,000	$\geq 1H$
4	150,000	$\geq 1H$
5	100,000	$\geq 1H$
6—10	80,000	$\geq 1H$
11—15	60,000	$\geq 1H$
16—20	50,000	$\geq 1H$
21—30	30,000	$\geq 1H$
31—40	20,000	$\geq 1H$
41—50	10,000	$\geq 1H$

How the Host Earn Money on Joyo Live?

Invite host rewards, up to **60 US** dollars

You can earn up to \$60 by inviting hosts to join Joyo. The invitee needs to finish the corresponding time; the more hosts you invite, the more rewards you earn.

Task	Salary
The invited host broadcasts live for 1 hour within 7 days	10000
The invited host broadcasts live for 5 hour within 7 days	10000
The invited host is livestreaming for 8 hour within 7 days	10000
The invited host is livestreaming for 12 hours within 7 days, and the lucky gift turnover is 5 million	30000
The invited host receives lucky gift turnover worth of 25 million within 30 days	60000
The invited host receives lucky gift turnover worth of 50 million within 30 days	80000
The invited host receives lucky gift turnover worth of 100 million within 30 days	100000
The invited host receives lucky gift turnover worth of 200 million within 30 days	300000

How the Host Earn Money on Joyo Live?

Installation and download

Installation and download

First you need to download Joyo from Google Play Store or App Store (iOS)

Note: Downloads from mainland China are not support

Register and log in

Supports four login methods: Google, Facebook, Apple account, and mobile phone number

How the Host Earn Money on Joyo Live?

Detailed explanation of personal homepage



- 1 Click here to edit your profile picture and nickname.
- 2 You can obtain coins through in-app purchases and offline recharge.
- 3 1.The host can earn diamonds from daily tasks and rankings.
2.Hosts can earn diamonds by receiving gifts in voice rooms.
3.Hosts can earn diamonds by receiving gifts during live broadcasts.
- 4 You can obtain coins through in-app purchases and offline recharge.
- 5 Complete phone number binding and real-name verification.
- 6 Click to view and claim daily tasks, rankings, host rewards, etc.
- 7 Open the store to purchase items.
- 8 View the items or gifts I already own.
- 9 Click to view the platform rankings, including Host Rankings, Wealth Rankings, Agent Rankings, etc.
- 10 Add, edit, or delete my posts.
- 11 Click to purchase VIP or view the privileges of VIP members.
- 12 Open the agent management page (for agents only).
- 13 Click to view information on your live or voice duration, income, and more.
- 14 Recharge coins for users, agents, or coin merchants (for coin merchants only).
- 15 Click to learn how to become a coin merchant and recharge coins (for coin merchants only).
- 16 View wealth level and live streaming level.
- 17 Contact customer support to provide feedback.
- 18 Open system settings to adjust language, notifications, etc.
- 19 Information about Joyo Live.

How do girls get Joyo task subsidies and policy support?

After girls finish register, they will get host task qualification

Once you complete the host type registration, the task cannot be changed, otherwise you will lose the host task, if you don't work well, your task will be canceled any time.

The new video host will receive a free subsidy of 14\$ (5000 diamonds/hour, 2 hours/day, 14 days) within 14 days;

The host needs to manually collect the reward every day. The collection time is 00:00:00-23:59:59 (UTC+8) the next day after completing the task. If the reward is not collected in time, it will be cleared.

How the Host Earn Money on Joyo Live?

The face verification

Before a host can start streaming and receive task rewards, they must pass the face verification. Each host can only have one account authenticated for streaming. The specific authentication process is as follows:

1. Click “Authenticate”
2. Enter the authentication interface for the face verification

Note:

- Please ensure that the account you are authenticating is your only certified account with Joyo; otherwise, authentication will fail.
- If this is your only certified Joyo account but facial recognition still fails, please contact customer service promptly. We will address and resolve the issue as soon as possible.

How the Host Earn Money on Joyo Live?

Rules For livestreaming

Note:

If a live stream is forcibly terminated due to violations, it will affect the claim of the no-target task rewards.

- **Registration Guidelines**

1. Hosts are prohibited from registering multiple accounts.
2. Any content of a sexual nature is strictly prohibited in public live streams.
3. Promotion of third-party platforms is not allowed.
4. Minors are not permitted to host live streams.

- **Cover Photo Guidelines**

5. Only hosts who upload an approved cover photo will be displayed on the live streaming page.
6. The cover photo must be a true image of the host.
7. The background should be clean and well-lit.
8. It is recommended that hosts use a high-quality upper-body photo as their cover.

- **Live Streaming Guidelines**

9. Maintain a clear frontal view of the face in the camera during the live stream.
10. Sit comfortably and focus on the stream; avoid lying down in bed.
11. Ensure the streaming environment is clean and well-lit.
12. Use makeup, appropriate attire, and beauty filters moderately to enhance the stream.
13. Do not intentionally black out the screen, hang up, or leave the camera unattended after starting the video.
14. **Actively greet and engage with clients in a friendly manner.**

Withdraw and Payment

Local E-wallet and Bank Withdraw Support

- We currently support bank and e-wallet withdrawals in multiple regions, including:
 - Global, Binance, Epay, and USDT
 - India, Bank Account, UPI
 - Pakistan, JazzCash, Easypasia
 - Bangladesh, Nagad and bKash
-More coming...

Quit Agency For Working Host

Host leaving agent rules

- 1、 The host has the right to quit the agency directly if he/she joins the agency for less than 24 hours. You can contact the admin to remove.
- 2、 If the host fails to pass the face authentication after joining the agency, host can contact the admin to remove it.
- 3、 The host applies to quit from the agent. If the agent does not respond or process within 7 days, the host can contact the admin to remove.
- 4、 Within 30 days, the host can only apply to quit from the agency once.